Exercise 1. For each of the following complex numbers, determine its real part and its
imaginary part.

2 = —3 — 2, 29 = 25, Z3=—14+2,
i 2,
“ =g, zs=—(241)+ (=5 +1), z6:\/7_@,

o 29 =-327 MNelo) =-2; Tul=)=-2
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*2,= 2-1 Relzs) =2 ; Tulz=-1
‘a3 Relad -0 ; Tmls -1
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= _A-6i Relzg)= -1 Im(agl= -6
2o = 2L Relzg)=0 > Tulz,) = —%

Exercise 2. Write each of the following complex numbers in algebraic form.

n=1%, 2= 2+1)?% zm=1, z=(1+14)(1—19).

=% | 2= (141)(2-1)
. 2 Z 2 +| I
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Exercise 3. Write each of the complex numbers represented below in the complex plane in
algebraic form.

Read Loom cIgvalph .

2.= A+ 23= | 2= — 21
ZZ: -/l ZL‘:’B*E 26-:: 3

Exercise 4. Given z = 2 + 4 and w = 1 4 37 compute:

1 z
—w, I I
wow
: = _ 2+ A= 3|
—w=-4-3 | I T 1=}
\ _ L-lla=-5
Y A ) A= - 10
W +2 N-2;
A 1 2 o j‘
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4 _ 3,
= o Mo

Exercise 5. Write the following complex numbers in algebraic form:

1 1+ —2+1
2==, Z9= -, 23 =
1 ARG W )‘E’ 14
4.4 A+ 2 [
24 ( l ZZ - 2—" 23 —_— R—’l -{-I‘KeA.—‘l
= =] — K+il(2+4) _ 221+
T A4y =1 A
_ 1 _é 1 A
=5 T =2 72!




Exercise 6. Using the following formula:
la + ib| = Va2 + b2,

compute the modulus of the following numbers:

lei, 22:1+i, 23:—2+3i, R4 = T, -+

g = L )z;\: Jzz«b 32 2y = 7

o) = (R | =L
-z

Exercise 7 (From the algebraic form to the trigonometric form). Consider the complex
number:

z=141.
1. Write the trigonometric form of z.

2. Let 2’ be a complex number with modulus |2'| = 1 and argument arg(z’) = 3. Write
Z" in trigonometric and exponential form.

3. Write 2’ in algebraic form.

- = /l | a .
e e |l b
[2) = A%+ = % _ _42?
=1z =2 N L 4«2k  keZ

TL(IA\W{,', 2 = A+
= 2 [ cal Bl cisul &
=2 cis (—%)
Z- _’-viacpunwﬂk_ fom~ 2 = cosu;‘j)ﬂ 5‘.,,\\1%)

3. 0-% — (%24 o s\n(E)’E



Theelove - 2‘=‘2+ _E‘

Exercise 8. Express the following complex numbers in exponential form.

1 /)
zlz\/g—l—i, 29 = — + —, 23 = —1,
V2 V2

ENE R cos&@)s %‘ 5in[9)=7b;
Ai

- T
%&fowi 2, = 206
A |
'ezl = J ;2 *3 0= 2
a = {2
— _ _ 02 = 12
(6l 3= - - % ]
b 4 (2
Sld\[ﬁ) - — = ‘r"r = _2_
v > 2
T
Thaelwe: =2, = Az e
z,= -1 Eub's iAaﬂiﬁ\,i e®+1=0




